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23 o Millmeters _Inches

24 funa Small Diameter 7. 0.27%

25 IH Large Diameter 143 05866
[ 26| | e Height 1168 0.4598.

27 Lo Resolution (dpmm) 0
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2 Output

30 Millmeters Inches

El Small Radius | 10.9252  0.4301

Ez1l Large Radius | 23.2550 09156,

EcIN Angle 15,3300 115.3300

34 Tan(Angle) 12837
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a7 instructions: enter a angle of ane comer for the right trangle. Enter the

Ex length of the ajacent side, and the length of the opposite side

39 is calculated. Data entry is in BLUE. Attach comer of triangle

a0 to center of circles to get exact angle line using hpotenuse,

4 update: Ive updated this section to read the angle fiom the MM section above

2 and "nomalize” it to make an acute right tiangle.

43 using ane of the right triangles below and placing the point angle at the center of the circle,

) ane will have one of the two radius’ needed for the cone.

45 “The other radius will all on one of the 90 degree vertical or horizontal ines. L
4
L 47] angle 2535001 646700

48 ajacent 30 30

49 apposite= 1420015 63.37962

50

i€ 4 » W\ staleconverter \cone-o-matic { scale converter2 {_body tube caluiator / <

Ready




[image: image2.png]





                                                             


                                                                             

Making the cone from the above numbers.





Run the numbers in the excel version of cone-o-matic. The bottom section details the shape of the circles and triangles that you need to make the arc-section for the cone. 


In this example the big circle is 23.25mm radius, so for adjacent side of the triangle I picked, 30, the next larger multiple of 10 for the right triangle. The spreadsheet then calculate the opposite side of the triangle to be 14.2 the interior angle being 25.3 which added to 90 will be exactly what was called for, 115 degrees. 


So now I drew a donut shape (the donut has an inner circle that you can conveniently shrink down to get to the center of the circle) and adjusted the size of the circle to double the radius, 46.5mm x 46.5 mm to get the big circle.


I did the same thing for the small circle, only using the size 21.8mmx21.8, and then made sure that the little center circle of both donuts were on top of each other (both centered on the same point.) 


I then drew any old rectangle putting the corner of the rectangle on that same center point. That angle inside the circles is 90 degrees, 


I then using the right triangle shape drew the right triangle with width 30mm and height 14.2 just like the spread sheet said I need to make the triangle with the balance of the 115 degrees. (25.3)  


Put the triangle point on the center of the circles and then you’ve got your arc for the cone. 





8) I then to show you used the freeform line tool to highlight the arc in 50% transparent grey.  Normally I would just do this in the gimp program. 


9) The rocket above was designed this exact way.     














